THE LAPLACE TRANSFORM

TSOGTGEREL GANTUMUR

ABSTRACT. We introduce the Laplace transform, and use it to solve initial value problems
for constant coefficient linear differential equations.
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1. INTRODUCTION
We know that the logarithm function turns multiplication into addition, in the sense that
log(a - b) = loga + logb, (1)

for any positive numbers a and b. Since addition is much easier than multiplication when
performed manually, before the advent of electronic calculators, it was a common practice to
multiply numbers with many digits by using the formula

a-b= elog(a~b) — elog a+log b’ (2)
where the logarithms and exponentials are looked up in a table of logarithms.

In the same vein, some procedures on functions transform differentiation into a simple
)
operation. The Laplace transform is an example of such a procedure.

Definition 1. Given a function f(¢) defined for ¢t > 0, its Laplace transform F(s) is
00 T
Fls) = / e dE = im [ ef(t) dt, (3)
0 T—o00 0

whenever F(s) is finite. We also call the operation of transforming f(t) into F(s) the Laplace
transform, and write

L{f(t)} = F(s). (4)

Remark 2. In these notes, we will mostly think of the variable s as real valued, although it
makes perfect sense to consider complex values for s.
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Remark 3. Suppose that the function f(t) satisfies the condition
If(t)] < Me™,  forall t>0, (5)

with some (real) constants M and «. Then the Laplace transform F(s) given by (3) is
well-defined for all values s > «. Indeed, fixing s > « and letting 8 = s — a > 0, we have

e ()] < Me e = Me™ P, (6)
and so - - o
[t < [ ierolan< [ etan= e 7)

which tends to 0 as T' — oo, showing that the limit in (3) exists. In fact, the same argument
implies that F'(s) is well-defined for all complex values of s satisfying Res > «.

Example 4. Let us compute the Laplace transform of f(t) = €%, where a is a real constant.
By definition, we have

L™ = / e St dt = / elo=9)t q¢. (8)
0 0

If s = a, then

T—o0

0 0 0
and if s # a, then

00 (a—s)t o 1 f
/ e(a—s)t dt — e _ 1 ( lim e(a_s)T _ 1) _ Js—a or s > a, (10)
0 a—s o a— S \T—oo oo, fOI'S<a/.
We conclude that 1
LMy =Fls) = ——, (s> (1)

In a certain sense, the number a measures how fast the function e grows or decays, say,
compared to functions of the form e® with different constants a. This rate is “detected”
by the Laplace transform, in the form of a singularity at s = a. In other words, supposing
that we do not know the value of a in f(t) = e, we can recover it from the location of the
singularity of F(s) = Z{f(t)}, see Figure 1.

at

t

v

a
1

s—a’

FIGURE 1. The function e and its Laplace transform £ {e%} =

Example 5. As a slight extension of Example 4, let us compute the Laplace transform of
f(t) = elatt where a and b are real constants. By definition, we have

{elattilty — /°° e stela bt 4y — /OO elatbi=s)t gy (12)
0 0
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Since the case b = 0 is already considered in Example 4, let us assume b # 0, which implies
that a + bi — s # 0. Hence we have

g{e(a—l—bi)t} — /oo e(a—l—bi—s)t dt = e(aerifs)t _ e(ais)t(cos(bt) + iSin(bt)) (13)

0 a—i—bi—so a+bi—s 0’

where we have used the Euler formula e(®+t=5)t = ¢(0=9)t(cos(bt) + isin(bt)). If s = a, as
the functions cos(bt) and sin(bt)) oscillate between —1 and 1, the limit of cos(bt) + 4 sin(bt)
as t — oo does not exist, meaning that F(s) = Z{e(@t%)'} is not defined at s = a. Similarly,
F(s) is not defined for s < a, because in this case e(**) — 0o as t — oo. Finally, for s > a
we have (@9t — 0 as t — oo, implying that

Plelatbiy — — ;_ =,

(s > a). (14)

Although we have assumed that b # 0 in deriving this formula, it is also true in the case
b = 0, because we have proved it already, as (11).

Example 6. Continuing the preceding example, let us compute F(s) = Z{el@tt)!} for
complex values of s. Let s = x + yi with z and y real numbers. We have

F(z +yi) = / " e (aruitglattit g / " elama -t g (15)
0 0

This is just (12) with z in place of s and b—y in place of b. In other words, F'(z + yi) is equal
to Z{elet =11 evaluated at s = z, and so
1

Pty = oy —a—w

(x> a), (16)

that is,
1

s—a—bi’

F(s) = Z{elottt) = (Res > a). (17)

We can extend the observation we made in Example 4, as follows. The Euler formula yields

ela+bt — et (cos(bt) + isin(bt)), (18)
meaning that while the number a corresponds to how fast the function eIt grows or
decays, the number b measures how fast it oscillates. Its Laplace transform F'(s) = s—al—bz‘ as

a function of a complex variable s, has a singularity at s = a + bi. We see that the location
of the singularity of F'(s) reveals information about growth and oscillatory behaviour of f(t):
Supposing that the singularity is at s = a + bi, the real part a corresponds to the growth rate,
and the imaginary part b corresponds to the frequency of oscillation, see Figure 2.

Im sA

Y Cm— .

a Res

FIGURE 2. The Laplace transform of e(®t%)? ig singular at s = a + bi.
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2. LINEARITY

One of the most important properties of the Laplace transform is linearity. Suppose that

F(s)=2{f®)},  and  G(s) =Z{g(®)}, (19)
are well-defined, for some value of s. Then for the same value of s, and for any real or complex
constants A and p, the Laplace transform Z{\f(t) + ng(t)} is well-defined, and we have

LN + pg()} = /0 T e TS () + pglt)) df = /0 T e A () + petg(t)) dt
= /\/0 e SLf(t) dt + M/o e Stg(t) dt

= AL ()} + pL{g(t)},
where we have used linearity of integrals (and limits) in the second line. To reiterate, we have
L)+ ng()} = AL} + nL{g(D)}- (20)
Example 7. Since
it it
cost = %, (21)

linearity and (17) give us a simple way to compute the Laplace transform of cost.

L{cost} = 53{6”} + §${6_Zt} _ = s+i+s—i

2's—i+§.s+i_§.(s—i)(s—|—i)

s
o241
This formula merits a special display:
A tf = ——. 22
feost} = (22)
Note that Z{cost} has two singularities located at ¢ and —i, wee Figure 5.
A A
cost
S
8241
t
5
FIGURE 3. The function cost and its Laplace transform .#{cost} = P
Example 8. Similarly, taking into account
it _ it
int=———, 23
sin 57 (23)

we compute the Laplace transform of sint as
1 1 1 1 1 s+i—(s—i)

L Lo i L _ 1 _ L.
Lsint) = e = e = S T Ty s 9 o)

1
s24+1°
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To conclude, we have

ZL{sint} = ——. 24
fint} = o — (24)
Note that Z{sint} has two singularities located at i and —i, wee Figure 5.
A
sint /
t
F1GURE 4. The function sint and its Laplace transform Z{sint} = ﬁ
Im sA
?
Res
—1
FIGURE 5. Both Z{cost} and Z{sint} have singularities located at i and —i.
3. SCALING
Another simple property of the Laplace transform is that of scaling. Suppose that
F(s) = 2{f®)}, (25)

and compute

(o) 1 o0
L{fmt)y = | e Sfmt)dt == [ e T f)da
= FC).

n n

where we have introduced the new integration variable z = nt, and assumed that F'(2) is
well-defined. The upshot us that Z{f(nt)} is well-defined for all values of s for which F'(:)
is well-defined, and is given by

21} = ~F(2). (27)
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Example 9. We can compute

. 1 1 n
Z{sinnt} = n /Pl =21 (28)

and
1 s/n s

n (s/n2+1 $2+n2
Note that the singularities of Z{cosnt} and Z{sinnt} are located at +ni.

ZL{cosnt} = (29)

4. DIFFERENTIATION IN S-SPACE
Let us differentiate
D
Fs) =20} = [ e, (30)
0

with respect to s under the integral sign, and get

F(s) = [0 0t = -2 {ef0). (31)

We can interpret it as a way to differentiate F(s), or as a formula to compute the Laplace
transform of ¢f(¢) in terms of the Laplace transform of f(t):

Z{tf(t)} = —F'(s). (32)

Remark 10. The differentiation under the integral sign in (31) can be justified, if we assume
that f(t) satisfies the condition |f(t)| < Me*', as we have in Remark 3. However, we will not
go into details here.

Example 11. We can compute the Laplace transform of ¢ as
1., 1
Lt} =L{t-1} = _(g) =3 (33)
More generally, applying the rule (32) repeatedly, we can compute the Laplace transform of
any integer power of ¢, as follows.

d dm
L=t " =—-— 2" = = (1) ——2{1
(=2 =L (-1 21}
= (1) (7)) = (—1) (=)t =
Let us display the result on its own for later reference.
" n!
g{t }: gntl’ (34)

Note that the singularity of £{t"} is located at s = 0 regardless of what n is, but the strength
of the singularity becomes stronger with increasing n, since for instance, s% grows much faster
than % as s — 0.

Example 12. Similarly, we have

. 1 2s
f{tsmt}——(82+1) RECESIE (35)
and , ,
CEN s*+1—s-2s5 s —1
Lteosth ==(57) =~ oyp @i (36)
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The singularities of Z{tcost} and Z{tsint} are still located at i, but the strength of the
singularities became stronger, as for instance, when s is very close to i, that is, when |s — i|
is small, we can write

1 1 1 1 1

ZL{sint} = = R~ =—- 37
St = T = e ) "o @) % =7 (37)
while
2s 2s 21 1 1
tsint} = = ~ - . ,
A = e T GG G @) 2 (=i (38)
5. SHIFT IN s-SPACE
Let s and a be some real numbers, and let us compute
Fls —a) = / (0t p(p) dt = / eStet F(1) dt = L{e f(8)). (39)
0 0

The computation is valid as long as the integral involved makes sense, that is, as long as
F(s — a) is well-defined. For instance, if f(t) satisfies |f(t)| < Me® for some constants M
and a, then (39) is valid for s—a > a. The formula (39) can be interpreted either as a formula
for F(s —a), or as a way to compute the Laplace transform of e f(t) in terms of the Laplace
transform F'(s) of f(t):

Ll f(8)} = F(s — a). (40)

Example 13. Using this rule, we can easily compute

atan n!
f{e tt }:m, (4].)
at B s—a
ZL{e® cosnt} = Goariin (42)
and
Lle“sinnt} = o (43)

(s —a)? +n?

Note that while the singularity of .Z{e®t"} is at s = a, the singularities of .Z{e% cosnt} and
L{esinnt} are located at a & ni.

Im sA
n ............................. .
a
- Res
o e R

FIGURE 6. The singularities £ {e® cosnt} and Z{e* sinnt} are located at a + ni.
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6. SHIFT IN {-SPACE

Having dealt with shift and differentiation in s-space, we now turn to shift and differenti-
ation in t-space. For handling the shift in t-space, it will convenient to write

2(10) = [ e twar= [ e, (14)
0 —o0
where 0(t) is the Heaviside step function
0, for t<0
6(t) =4’ ’ 45
®) {1, for t>0. (45)

Since the integral in (44) is now over the whole real line —oo < ¢t < oo, we can freely shift the
argument of the integrand, resulting in

/ T et £(1) dt = / T s 0g( — o) f(t — a) dt

—0o0 —00
[e.9]

= eas/ e 0t —a)f(t —a)dt

= e /00 et —a) f(t —a)dt,

for any fixed number a € R, where in the third line we have used the fact that 8(t —a) =0
for t < a. If one wants to be pedantic, what we have done can be thought of as changing the
integration variable to r =t 4+ a, meaning that t = r — a and dt = dr, to write

/ e (1) dt = / eI~ a)f(r —a)dr, (46)

—00 —0o0

and then renaming r to ¢, as

/ eI — ) f(r— a) dr = / T - ) (- a)a, (47)

—0 —o0
where of course, this new variable ¢ is different than the original variable ¢. In any case, for
a > 0, we have

L{ft)} = /Oo e SO(t) f(t) dt = e /Oo e S 9(t —a)f(t —a)dt

_ o /OOO eSOt — a) f(t — a) dt = e L{0(t — a) (¢ — a)},

implying that
20t —a)f(t—a)} = e Z{f(t)}. (48)

Note that shift in t-space only introduces a decay factor of e~%% in the s-space. In particular,

it does not change the locations and strengths of the singularities of the Laplace transform.

Example 14. Let us compute the Laplace transform of 6(t — a), with a constant a > 0.
Invoking (48), we have

—as

LIt —a)y = L0t —a) -1} = e 5.2{1} = & —. (49)

Note that Z{6(t)} = Z{1}, because the Laplace transform Z{f(¢)} cannot “see” the values
of f(t) for t < 0, and hence cannot distinguish between 6(¢) and 1.
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t

3

—as

FIGURE 7. The function #(t — a) and its Laplace transform Z{0(t —a)} = ©

S

Example 15. Let a and b be real numbers satisfying 0 < a < b, and let

0, for t<a,
h(t)=4¢1, for a<t<b, (50)
0, for t>b,
be the “rectangular pulse” between a and b. We can write
h(t)=0(t —a) — 6(t — b), (51)
and taking into account the preceding example, we have
—as e—bs e—as _ e—bs

L)} = 210t —a)y — 210t —b)y = < — - . (52)

S S S

Note that there is no singularity at s = 0, because e — ¢ ~ (b — a)s for s = 0.

t

g - ——————-

FIGURE 8. The “rectangular pulse” §(t — a) — 0(t — b) and its Laplace transform.

Example 16. Let us compute the Laplace transform of

t, for t <3,
h(t) =  exp(£), for 3 <t<2m, (53)
sint, for t > 2m.

In terms of “rectangular pulses” and step functions, we have
h(t)=(1—-0(t—3))t+ (6(t—3)—0(t —2m)) exp(é) + 0(t — 2m) sint, (54)

Consider, for instance, the term 6(t — 3)t. In order to be able to apply the shift formula (48)
to this term, we need to write ¢t as f(t — 3) for some function f. This can be achieved by
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noting that ¢ = (¢ — 3) + 3, so that ¢t = f(¢t — 3) with f(x) = 4+ 3. In general, supposing that
g(t) is a given function, we can write it as

g(t)=f(t—a),  where  f(z)=g(z+a), (55)
and therefore
L{0(t —a)g(t)} = ZL{0(t —a)f(t —a)} = e L{f(O)} = e L{g(t+a)}.  (56)

By employing this formula, we compute

L{0(t—3)t) = e L[t +3) = e—3s(si2 + %),
—27s
L{O(t — 2m) sint} = e 2™ L{sin(t + 27)} = e 2 L{sint} = a1
t —as t+a a e " e—a(s—%)
L2100t~ a) exp(})) = L{oxp(52)) =exp(8) = C
5 5

The latter result could have also been derived by using the s-space shift formula (40). Finally,
piecing all this together, we have the Laplace transform of (54):

1 1 1 673(57% 6727r(37%) e—2ms
L)) = = — e (= 4 - -
{n(t)} 2 © (32+3)+ s— 1 s— 1 +32—|—1
e—3s N 1— e 38 6—3(3—%) _ 6—271'(5—%) N e—2ms
s 52 s—1 s2+1

SN N
QW\/\_/

F1GURE 9. The function h(t) from Example 16.

~Y

Before closing this section, we would like to display (56) again

L{0(t — a)g(t)} = e ZL{g(t + a)}, (57)

since it is often used when we solve differential equations.

7. DIFFERENTIATION IN t-SPACE

As far as differential equations are concerned, the most important property of the Laplace
transform is that it essentially turns differentiation into multiplication by s. To derive this
fact, we start with the definition of .Z{f’(t) and perform integration by parts, to get

T T
Z{f'(t)} = lim / e SHf(t)dt = lim (e_Stf(t)‘g + 5/ e St f(t) dt). (58)

Assume that f(t) satisfies |f(¢)] < Me™ for all t > 0 and for some constants M and «. Then
for s > «, we have

e TF(T)| < Me™ =T, (59)
which goes to 0 as T' — oo. This implies that
L)} = Jim e f(T) = £(0) + 8/ e f(t)dt = —f(0) + sZ{f(t)},  (60)

0
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for s > a, that is
2{f' ()} = s2{f)} - f(0). (61)

In addition to what has been assumed, if f/(t) satisfies |f(t)] < Me® for all ¢ > 0, then we
can apply the differentiation rule (61) to f'(t), and get

L{f"()} = sZ{f' (D)} = (0) = > L{f ()} — s£(0) = £(0), (62)
for s > a.

Example 17. We can compute

L{cost} = L{(sint)'} = s.ZL{sint} —sin0 = s - 2 :_ T (63)
and
2 2 2
Zisint} = —Z{(cost)} = —sZ{eost} +eos0 =~ 1= -1t T i i (64)
which are consistent with what we know already.
Example 18. We know that the function y(t) = e* satisfies
Y = ay, and y(0) = 1. (65)

Let us try to compute £ {e®} by using the conditions (65) only. The differential equation
y' = ay implies Z{y'(t)} = aZ{y(t)}, that is,

sZ{y(t)} —y(0) = aL{y(t)}- (66)
Taking into account y(0) = 1, and introducing the notation Y (s) = Z{y(t)}, we have
sY(s) — 1 =aY(s), (67)

and so

Y(s) = ! (68)

s—a

Example 19. In the same vein, let us compute the Laplace transform of y(¢) = sinwt by
using the conditions

y' +wly =0,  y(0)=0, ¥ (0)=w. (69)
So we have Z{y"(t)} + w?.Z{y(t)} = 0, and an application of (62) implies
s> L{y(t)} — sy(0) — ¥/ (0) + > L{y(t)} = 0. (70)

Taking into account the conditions y(0) = 0 and 3/(0) = w, and introducing the notation
Y(s) = Z{y(t)}, we have

s2Y(s) —w + WY (s) =0, (71)
and so
V()= g (72)

Ezercise 20. Compute the Laplace transform of y(t) = coswt by using a differential equation
coswt has to satisfy.
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8. FIRST ORDER INITIAL VALUE PROBLEMS

The Laplace transform is a convenient tool to solve initial value problems for constant
coeflicient linear differential equations. As we will see, it has a relative advantage especially
if the right hand side of the equation is a discontinuous or a piecewise defined function.

We start with first order problems. Consider the initial value problem

v +py=ft),  y0)=a, (73)

where p and « are given numbers, and f(t) is a given function. Laplace transforming the both
sides of the equation, and using the differentiation rule (61), we get

sZ{y(t)} —y(0) + pL{y(t)} = L{f()}. (74)

Taking into account the initial condition y(0) = «, and introducing Y(s) = Z{y(t)} and
F(s) =2Z{f(t)}, we infer

sY (s) —a+pY(s) = F(s), (75)
or in other words, the Laplace transform of the solution to (73) is given by
F
y(s) = 2 4 T (76)
s+p s+p

It is remarkable that solving the differential equation (73) in the s-space basically amounts
to dividing by s + p. What remains is to find the function y(¢) given its Laplace transform
Y (s). We call this operation the inverse Laplace transform, and write

y(t) = L HY (s)}. (77)
To summarize, solving the initial value problem (73) consists of the following steps.

e Compute the Laplace transform F(s) of the right hand side f(t).
e Write Y (s) in terms of F(s), as in (76).
e Compute the inverse Laplace transform of Y (s), to get the solution y(t).

Example 21. Let us solve the initial value problem

Y + 3y = sint, y(0) = 2. (78)
Laplace transforming the both sides of the equation, and using (61), we infer
. 1
SZY(0) — y(0) + 321y} = Lfsint) = 5 (79)
which we can write as
1

where we have taken into account the initial condition y(0) = 2 and have introduced the
notation Y (s) = Z{y(t)}. From here it is easy to find

2 1
G A Sl gy pe

(81)

Now we need to compute y(t) = £ 1{Y(s)}. While we can easily recognize that the first

term H% is the Laplace transform of 2e 73!, the second term needs some preprocessing. To

this end, we use the technique of partial fraction decompositions, and write

1 As+ B C
_ . 2
P13 £+1 513 (82)
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We see the Laplace transforms of cost, of sint, and of e3¢ in the right hand side, so once we
have identified the constants A, B, and C, we would be able to complete the solution. To
identify these constants, we simply give a common denominator, and infer

1 _AS+B+ C  (As+B)(s+3)+C(s*+1) (3)
(s2+1)(s+3) s2+1  s+3 (s2+1)(s +3) ’
implying that
(A+C)s* + (BA+B)s+3B+C =1. (84)
Thus we have
A+ C=0, 3A+ B =0, 3B+C=1. (85)
Let us find C' and B from the first two equations, and substitute them into the third, to get
C=-A, B = —3A, 3-(=34)+ (—-A4) =1, (86)
leading to
A=—Lt  po_ga=3 oo _a-L (87)
107 B - 10’ T
Finally, we have
2 1 S 3 1 1 1
Y(s) = .2 42 L
B = 3 10 211 10 24110 543 (88)
and so
H —3t 21 —3t : _
() = LY (5)} = 2e7 — cost+351nt+e _ 2le + 3sint cost. (89)

10 10 10 10
Note that the method of partial fractions is actually a parallel of the method of undetermined
coefficients, because finding the constants A, B, and C in (83) amounts to deciding the
constants in front of e~3, sin¢, and cost in the eventual solution (89). However, if the
right hand side f(t) was, say, a discontinuous function, then the Laplace transform method
would still work, but the method of undetermined coefficients would become very complicated.
In this sense, the Laplace transform method can be thought of as an extension of (or an
improvement upon) the method of undetermined coefficients.

9. SECOND ORDER INITIAL VALUE PROBLEMS

Consider the initial value problem

y' oy +ay=f@1), y0)=a, y(0)=5, (90)
where p, ¢, a and  are given numbers, and f(t) is a given function. Laplace transforming
the both sides of the equation, and using the differentiation rule (62), we get

s> L{y(t)} — sy(0) = y'(0) + psL{y(t)} — py(0) + ¢L{y(t)} = L{f(1)}. (91)
Taking into account the initial conditions, and writing Y (s) = Z{y(t)} and F(s) = Z{f(t)},
we infer

sY (s) — sa — B+ psY (s) — pa+ qY (s) = F(s), (92)
or in other words, the Laplace transform of the solution to (73) is given by
F

s2+ps+q s*+ps+q S4+ps+q
We can now formulate a method to solve the initial value problem (90), as follows.

e Compute the Laplace transform F(s) of the right hand side f(t).
e Write Y'(s) in terms of F(s), as in (93).
e Compute the inverse Laplace transform of Y (s), to get the solution y(t).
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Example 22. Let us solve the initial value problem
y' +y=0(t-m), y0)=0  y(0)=L1L (94)
Laplace transforming the both sides of the equation, and using (62), we get

6—71'5

s> Z{y(t)} = sy(0) — /' (0) + L{y(t)} = 2{0(t — m)} = (95)
In light of the initial conditions y(0) = 0 and '(0) = 1, we infer
(s + DY (s) 1= —, (96)
or equivalently
1 —TS
Y (s) = : (97)

s2+1 * s(s24+1)
where Y'(s) = Z{y(t)}.

Now we need to compute y(t) = £ 1{Y(s)}. The first term in (97) is the Laplace transform
of sint. The second term is not immediately obvious, so we need to use a partial fraction
decomposition. The condition

1 As+B C (As+B)s+C(s*+1)
21D 21 s (2 + 1) ! (98)
leads to
A+C =0, B =0, C=1. (99)
Therefore we have
Y(s)= 4 s S (100)
s24+1 s 2417

and hence
y(t) = L HY (s)} =sint +0(t — 1) — (t — 7) cos(t — w) = sint + O(t — 7)(1 + cost), (101)

where we have used the shift rule (48). An alternative way to write y(t) is

sint, for t<m,
y(t) = : (102)
1+sint 4+ cost, for t > m.

10. THE INVERSE LAPLACE TRANSFORM

In this section, we want to systematically derive some important properties of the inverse
Laplace transform. Recall that if

F(s)=2{f(t)}, (103)
then the inverse Laplace transform of F(s) is defined by
LTHE(s)} = f(1). (104)

In these notes, we are going to simply assume that the inverse Laplace transform is well-
defined for all functions F'(s) that are under consideration. A justification of this fact is
beyond the scope of this course.

First, let us compute the inverse Laplace transforms of a few simple functions. The fact
Lelottidty — 1 implies that

s—a—bi

1
s—a—bi
From Z{t"} = sff%, with the help of the substitution m = n 4 1, we can derive that

g—l{ } — e(a-‘rbi)t‘ (105)

B 1 tm—l
g l{sim - (

e (106)
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We also have

—a), (107)

2_1{82:_1}:sint, 3_1{8211}:%8& and

which are immediate from Z{sint} = 2+1, ZLA{cost} = 2+1, and Z{0(t —a)} =

We are not going to continue deriving such formulas, since for example, the formula
.,2”_1{8211} = sint is simply a restatement of Z{sint} = ﬁ, and there is really noth-
ing new to it. Somewhat similarly to how these formulas are derived, each operational rule
for the Laplace transform such as linearity and scaling, gives rise to a rule for the inverse
Laplace transform. Although these rules are again restatements of the rules for the Laplace
transform, it is worth explicitly writing them down.

Linearity. We start with linearity. Let F(s) = Z{f(t)} and G(s) = Z{g(t)}. Then by
linearity of the Laplace transform, we have

LN () + ng(t)} = ALLf(0)} + nZ{g(t)} = AF(s) + pG(s). (108)
Applying the inverse Laplace transform to both sides yields
AF(E) + ug(t) = £~ {AF(s) + uG(s)}, (109)

and plugging in f(t) = £ HF(s)} and g(t) = £ 1{G(s)}, we conclude that
LTHAE(s) + uG(s)} = ALTHF(s)} + 2 HG(s)}, (110)
which is the linearity property of the inverse Laplace transform.

Example 23. By linearity, we have
5¢ 2

-1 1 1
= 2 =— 42 111
{ 2+1} 5.8~ { 5 +2.27 {82+1} 5+ 2cost, (111)
where we have also used (106) and the second formula in (107).
Scaling. Let F(s) = Z{f(t)}. Then we have the scaling law
1 s
2{1 0} = 1F (). (112)
A A
Applying the inverse Laplace transform on both sides, we get
1 s
f) =12 I{F(X)}. (113)
and upon introducing p = %, this is
LMEus)} = — (). (114)
B
Remarkably, this scaling law looks formally identical to (112).
Example 24. By using the scaling law and the first formula in (107), we infer
1 1 t
-1 1 .
= — 1= Csin-. 11
1) {(23)2+1} 2 "9 (115)
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Differentiation in s-space. By applying the inverse Laplace transform to the both sides of

ZL{tf(t)} = —F'(s),
we get
tf(t) = -2~ {F(s)}.
Then plugging in f(t) = £ {F(s)}, we derive the differentiation rule
LTHF (s)} = ~tZL7H{F(s)}-

Example 25. We have

1 / 2s S 1 1 /
=——"" _ thati S R .
(52+1) (21 1)2 BB e 2(52+1)

In light of (118), this gives

s 1 1 t tsint
B7an) P, . .
{(52+1)2} 2 {(82—|—1)} {S2+1} 2
Example 26. We have
s v 1-g? 2 LR 1
= that i = .
(o7 =@ i, e = (e e
In light of (118), this gives

1 1 o S vy, Loy 1 _ tcost  sint
Z {W}_Q‘Z (e o -

Shift in s-space. By applying the inverse Laplace transform to the both sides of
F(s—a)=2{e"f(1)},

we derive the shift rule

LHF(s —a)} = 27 HF(s)}).

Example 27. Sample applications of the shift rule (124) give

attm 1
—1 o
{(8 } )
and
—1 __at -
{ P 1} = e sint.

Shift in ¢-space. It is straightforward to der1ve from

20t —a)f(t—a)} = e 2{f(t)},
the shift rule

L He ¥F(s)} =0(t —a)f(t — a).

Example 28. We have

B k)ea(tfk) (t _ k)mfl
(s —a)m } (m—1)! ’

{

and

B e—0Sg
Z 1{s2+1} =0(t — a)cos(t — a).

(116)

(117)

(118)

(119)

(120)

(121)

(122)

(123)

(124)

(125)

(126)

(127)

(128)

(129)

(130)

(131)
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